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ReaI L|fe are Roots!!

A ladder is 6.1 m long.

The distance from the base of the
ladder to the wall is 1.5 m.

Calculate how far up the wall
the ladder will reach.

o= 2-p>
0>= (12-15°
g>= 31al-235

e

=99
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2.

A ladder is 9.3m long. The distance from the base of the
ladder to the wall is 3.2 m. Calculate how far up the wall
the ladder will reach.
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The distance a ladder is from the base of the wall is 2.9 m.
If the ladder will reaches 10.2 m up the wall, how long is
the ladder?
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4.

The distance a ladder is from the base of the wall is 2.5 m.
If the ladder is 7 m long, c alculate how far up the wall the
ladder will reach.

0= A

0= 7"‘~;>\5""
A= 19t
ﬁa:m%

=65
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5.

A ladder is 6.1 m long. The distance from the base of the
ladder to the wall is 1.5m. Calculate how far up the wall t he
ladder will reach.
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